Chapter 2. Profit, Loss and Discount

Ex 2.1
Answer 1.

C.P of the watch = Rs.1750

S.Pof the watch = Rs.1610

Loss = C.P.-5.F

= Rs.{1750-1610) =Rs.140
Loss 9= '-‘:';S % 100
= 140 w100= 294
1750

Answer 2.

C.P of the camera = Rs. 4600
Profit = 159%

ﬁ_ 1. Frofit
CP. 100

SP. 15
= 2606 " 100
SP. 100+15
4600 100

=5k = EK 4500= Rs. 5290
100

=

Answer 3.

C.P of the watch = Rs.4050
Loss = 14%

%_l_LDSS
CP. ~ 100
SP, 14
= 2050 1 100
_ S.P. _100-14
4050 100

= Sk = E:»<4[:]5D= Rz 3483
100




Answer 4.

C.P. of the car = Rs.75000

Amount spenton repairing= Rs.15000

Total C.P. = Rs.75000 +Rs.15000
= Rs.90000
S.P. of the car = Rs.114000
Gain = S - P
= Rs. (114000 -90000)
= Rs. 24000
Gain

Gain s =—— X 100
8 S

24000

= = 100= 26.6%
S0000

Answer 5.

C.P. of the furniture set = Rs.21000

Amountspenton transportation = Rs.500

Amountspenton repairing = Rs.4500
- Total C.P = Rs, 21000 + Rs.500 + Rs.4500
= Rs.26000
Profit% = 20%
Now,
S.F’._1+Proﬁt
CP. 7 100
SP 20
el
26000 100
wh 100+ 20
26000 100

== @E26DDD= Rs31200
100

. He must sell the furmniture setat Rs.31200 to make a profit of 20%.



Answer 6.

One score = 20 notebooks

C.P of 20 notebooks = Rs. 240

C.P. of 1 notebook = Rs. 240/ 20 =Rs.12

~ C.P.of 1000 notebooks = Rs. 12 x 1000 = Rs.12000
S.P of 1 notebook = Rs.15

~ S.Pof 1000 notebooks = Rs. 15 x 1000=Rs.15000
sk CF

Profit= S.P. - C.P. = Rs. (15000 -12000) = Rs. 3000

Profit

Profit%= X 100
P

_ 20K = 100= 25%
12000

Answer 7.

Cost of one box = Rs.180

- C.Pof 25 boxes = Rs.180x 25 = Rs.4500
Onebox contains = 12 pars
-~ 25 boxes contain = {2 x 25 = 300 bars

» S.Pof 25boxes = Rs.18x 300 = Rs. 5400
" SP. CP,

Profit= S.P. - C.P. = Rs. (5400 - 4500) = Rs. 900
Proﬁt%=pr;ﬁt}{1[)0

= ﬂx 100= 20%
4500



Answer 8.

S.P of 1 kg of coffee Rs.135

Loss %o = 10%
MNow,

SP.=1_LDSS

CF. 100
135 . 10
CP T 100
135 100-10
CP 100

= CP = @x 135=Rs. 150
=10

-~ C.P.of 1 kg of coffee = Rs.1350
.. Loss per 1kg of coffee = C.P.-5.P
= Rs.150-Rs.135=~Rs. 15

Total loss incurred = Rs. 180
- Amountof coffeesold = Total loss
loss per 1 kg of coffes
= @: 12 l{g
15
Answer 9.
Cost of 8 locks = Rs.520
. C.P.of1 lock = Rs. E= Rs.65
Selling price of 12locks = Rs.936
. 5.P. of 1 lock = Rs. %= Rs.Rs.78
SR CPR
Profit=S.P. - C.P. =Rs. (78-65)=Rs. 13
erofitve= My 100
_ 13 100- 20%
65
Net profit = Rs.520
. Number of locks sold = Total profit
profit per lodk
N 520 _ 40

T i3



Answer 10.

cp_[100+Profit%)
100

[1DD+ED]

o= xR, 3000 =Rs, 3c00

~profit=SP-CP=Rs, 600

This profitincludes tax =Rs, 360

- netprofit=Rs, 600- 360=R=s, 240
Profit 240

So, the netprofitis Rs, 240 and the profit percentageis 2.

- Profitto =

Answer 11.

CP of 800 straw at the rate of 50 paise per straw

100
Since profitis 50% of his outlay when only 640 artides are sold,

- SPof 640 straws = 1+£ of Rs, 400 = 58
100 100

=Rs. [EXBDDJ Fs. 400

xRs, 400 =Rs, 600

. &00 15
~ SPof each article =Rs. m—Rs. e

o SPof720 straws=Rs. (?EDx £J=RS. 675
S Actualprofit=Rs 675-Rs. 400=Rs, 275

- Actual profitoe =[ 2N 100 o =( 272 4 1002 68.75%
CP 200

Answer 12.

SP of the first mobile =R.s. 15000, profit =25%

L Rs 15000 = 1+£ of CF"—-DF GE
100 4

=CF=Rs. [15[][][]31%} =Rz, 12000

SP of the second mobile =Rs, 9945, proﬁt=1Dé%= %%
(2
Rs 9945=|1+-2_ |ofcp=22Lof cp
100 200
'\
200
= CF =Rs,. 9945 EJ Rs, Q000

Let the CP DF the thirdartidebePR.s. x.
. CPof all the three arficles=Rs, 12000+Rs, 9000 +Rs, x =Rs (21000+x)
. SPof all the three articles=Rs, 15000+F.s, 9945+Ps, 5392 =Rs, 30337

A= the loss incurred on the whole transacton =8;%_ 25



o5
So, Rs, 30337 - 1—%‘0 of Rs. (21000+x%)

= 30337 = [1—%} % (210004 %)

—= 30337 = [%J % (210004 x)

= 364044=21DDD +x

133044
11

=Rz, 12095 approximately

Answer 13.

Let CP of the car at Kakatabe Rs. x.
Asthe caris available at 12% less price at Chennai,

CP of the car at Chennai = 1—E of Bs, x=Fs, %x
100 25

Since heincursRs, 9000 as overhead expenses,
total CF of the car =Rs, [%:H QDDDJ

By selling the car at Kolkata for Rs. x, he makes aprofit of 10%

~Rs.x= 1+£ of FLs, EX+QDDD
100 25

:=<=H §>{+9DDD
10V 25

10 2
:}HK_EX-FQDDD

10 22
:}HK—EX= Q000

— 8 o= x=212*0 . _Rs 300375
575 g



Ex 2.2

Answer 1.

Let the cost price be Rs, 100
So, the profit will be Rs, [%XIDDJ= Rs. 25

=SF=CP+Profit=Rs, {100+ 25)=Rs. 125

When the profitisRs, 25, the saleisRs, 125

S0, let x be the profit when the saleis Rs, 5000
_ 25x5000

125
Hence, the profitis Rs, 1000,

=Rz, 1000

Answer 2.

Let the CP of 3 watches be Bs. .
o CF of 1 watch = Rs%

=CP of 10 watches =Rs, m?x

Loss on selling 10 watches = CP of 3 watches =Rs, x

SP of 10 watches iz Rs, 1400

Loss incurred on selling 10 watches = CP of 3 watches =Rs, x
Since CP - 5P = Loss

= Rs.%— Rs 1400 =Rs x

10— 4200
=" Tt ox
3
= 10x - 4200 = 3x
= 7x = 4200
= ¥ = 00

Hence, CF of a watch = Rs% = Rz, % = Rs. 200,



Answer 3.

CP of 5 toffees =Re. 1
100 + Pr ofit® of CP
100
_[100+25) nay
100
=125% xRe. 1
5

=Rz 2
>3

SP of 5 toffees = [

For Rs, g, toffeessold =5

For Re, 1, toffees sold = [Sx g} =4

Hence, 4 toffees were sold to gain 25%.

Answer 4.
S.Pof atie = Rs.648
Gain = 8%
5P._1+Proﬁt
CPo 100
6% 4, 8
CP. T 100
648_ 100+ 8
CP. 100
100
=CP = mﬁ(fid@= Re &0
Mo, TR of the tie = Rs600
Gain = 10%,
. 10
Gain =meP.
10
= ﬁ:=<lE:uDEiI=Iilks.E-l:l
SR =Rs (600+A0)=Rs&60

~ Hemust sell the tie at Rs.660 to make a gain of 10%



Answer 5.

S.P. of the cupboard = Rs.6480
Loss = 10%
MNow,
% - Loss
CP. 100
s 6480 _ 1- 10
CP. 100
6480 _100-10
CP. 100
= CP = %xﬁ-ﬂ%@= Rs. 7200
Mow, CP ofthe cupboard = Rs 7200
SP.ofthe cupboard = Rs7560
- SP. > CP

. (Gain = SP.- CP.
- Rs.(7560-7200)

_ Rz 360
S Gan% =22 100
CP

_ 290 100= 5%

200
Answer 6.

Let the S.P. of 4 pens = Rs. x

~ S.P. of 1 pen - Rz =

C.P. of 5 pens will alsobe Rs. x

L] »g

. C.P.ofl1 pen =Rs

L= 5P =CFR
Frofit=5F - CR

%W S = dx X
=RS'[E_§J=RS'[ 20 }RSE

Profit

x 100

Moy, Profit¥h =

Y

= %:&: 100
% 5

0 )
0w

_ 25%



Answer 7.

Initial 5.P. of a computer = Rs.32200

Profit 15%,

SP. 1+Proﬁt
= 100
2200 15
=1+
P 100
32200 100+15
CP. 100
=CP = —11?2 ¥ 32200= Rs, 28000

. CP.ofthe computer = Rs. 228000
If the SPF. ofthe computer is Rs 29960,
SP = CP

. There would be a profit of = SP.-CP.
=Rs (29960 - 28000)=Rs 1960

Answer 8.

For the first refrigerator,

S.P. =Rs.37500
Profit = 25%;,

SP Frofit
=1+

CPo 100
37500_,, 25
CP 100
37500 100+25
cP 100

=CP. = %KB?SDD= R.s 30000

For the second refrigerator,
S.P. = Rs.37500

Loss = 25%



=P i Loss

CP. 100
37500_, 25
CP. 100
_ 37500_100-25
CP. 100

= CF = %XB?SDCE Rs, 50000

Total C.P. of both the refrigerators = Rs. 30000 + Rs.50000 =

Rs.80000
Total S.P. of both the refrigerators=Rs. 37500 x 2 = Rs.75000

Since C.P. » 5.P., sothereis aloss

Loss = C.P. - S.P. =Rs. (80000 - 75000) =Rs.5000
Loss% = 9% 100

CF.

5000

x100 = 6. 25%

20000

Answer 9.
Let the C.P of briefcase be Rs.100

Profit = 10%:

SP.= 1+Proﬁt

CP. 100

SP_y, 10

100 100

SP. 100410

100 100

—gp, OO0 by
100

When buying at 5% less,
C.P. of the briefcase = Rs.100 - 5% of Rs.100 = Rs. (100-5) = Rs.95

Gain % = 20%
Sain = 2><I:2ts. 95=Rs 19
100
S.P. of the briefcase = Rs.95 + Rs.19 = Rs.114

Difference between the two S.P's = Rs.114 - Rs.110 = Rs.4
When the differencein 5.P. is Rs.4, the C.P of the briefcase is Rs.100

When the differencein S.P. is Rs.120, the C.P of the

[lDDx 120}

briefcaseis =FR.= = R=32000



Answer 10.

S.P of the shirt = Rs.1265 + Rs.55 = Rs.1320

Gain = 20%;
SP._,, Profit
CF. 100
1320 20
=P ~ 1100
1320 _ 120
CE. 100
—cp 130 X100 o000
120

Answer 11.

C.P. of 200 kg sugar

Rs. (18 X 200) = Rs.3600

C.P. of 100 kg sugar

- C.P. of 300 kg sugar
S.P. of 300 kg sugar

As S.P > C.P, so there is a profit

Rs. (22 X 100) = Rs.2200
Rs. (3600 + 2200) = Rs.5800
Rs. (20 X 300) = Rs.6000

- Profit = 5.P. - C.P.
= Rs. (6000 - 5800) = Rs.200
Profit % . Pohiteina
C.P.
= £X100=3.44%
5800
Answer 12.

S.P.of12 glasses = Rs.600
5.P. of 1 glass = Rs.% = Rs.50
Profit = 25%
SP._, . Profit
CP. 100

&0 25
~%r 1o
_ 600_125

P 100
scp, ~2OAI00_peasn

125

C.P. of 12 glasses = Rs.480
C.P. of 1 glass = Rs, aee

= Rs.40
2



C.P. of 15 such glasses
S.P. of 15 glasses

TER»ER

Rs.40X 15 = Rs.600
Rs.540

Thereis a lossof C.P. - 5.P = Rs. (600 - 540) =Rs.60

Loss %% =

Answer 13.

LSS v 4 o
CFP

—— X 100=10%
G0

Let C.P. of an article be Rs.100

Profit =
¢ EP. =
"1 Again,
- SP. =

8%

Rs.100 + 8% of Rs.100 = Rs.100 + Rs.8 = Rs.108
Profit = 12%

Rs.100 + 12% of Rs.100 = Rs.100 + Rs.12 = Rs.112

Difference between the two S.P. s =Rs.112 - Rs.108 = Rs.4

When differenceisRs.4, then C.P

.~ When differenceisRs.72, then C.P

Rs.100

ELE R Rs 1800

. The cost price of the article is Rs.1800

FirstS.P

= Rs.1800 + 8% of Rs 1800

_ Rs 1800 + % % 1800=Rs. 1800+ Rs, 144-Rs. 1944

Second &5.P

= R= 1800 + 12%of Rs 1200

12

= Rs 1800 +ﬁx 1800=Rs 1800+ Rs216=Rs. 2016



Answer 12.

5.P of retailer

Rs.12474
Profit = 3%

SP Profit
1+

CP.” 100
_ 1244 S

CP. 100
- 12474 100+ 5

R, 100

=CPF = @K 12474=Rs 11880
105

S.P. of dealer = Rz 11880
Profit = 8%

Sk Profit
1+

CP” 100
11880 2
~zp 100
_ 11880 _100+8

CR 100

=CF = @}{ 11880= Rs 11000
102

S.P of manufacturer = Rs.11000
Profit = 10%

SP Profit
1+

CP 100
11000

= 190, o
ce T

= 11000 _ 100+ 10

R 100

=CPF = %K 11000= Rs, 10000




Answer 15.

CP of the painting for Akhil =Rs, 50000
Profit = 15%
~Profit = 15% of Rs. 50000

o1 x S0000
100

=Rs 7500

SP = CP+ Profit

= R (50000 + 7 500

= Rs. 57500
CP of the painting for B =Rs, 57500
Loss = 15%
- Loss = 15% of Rs 57500

15

= — x 57500
100

= Rs 8625
sk =CP-Loss
= Rs. (57500 - 8625)
= Rs 48875

Total gain made by Akhil =Rs.[7500+ (50000 - 4387 5)]

=Rz 8625

Sain

Gain%ain the second transaction = = w 100

_ 8625 100

50000
= 17.25%




Answer 16.

S.PoftheT.WV = Rs15730
Profit = 30%
%_Hproﬁt
CP. 100
15730 30
=1+
= 100
— 15?3D= 1004+ =0
CFR 100
=CP = @}-{ 15730= R= 12100
130
C.P.oftheT.WV = Rs12100
Increasein C.F = 30%
New C.P = Rs12100 +30% of Rs12100

= Rs12100 +Rs3630=Rs15730
S.P.ofthe TV = Rsi5730

Increasein 5.P = 209,
New S.P = Rs15730 + 20% of Rs15730
= Rs15730 +Rs3146 =Rs18876
Profit = SP-CP
= Rs. (18876-15730) =Rs3146
Profitde = oMt 1002 314 | 100 < 20%




Answer 17.

Let the cost price of one of the cycles be Rs x

The cost price of the othercycle = Rs (8000 - x)
For the first cycle,
CP =Rsx

Loss = 20%

Lloss = 20% of Rs x = Rs 0.20 x

For the second cycle,

C.P = Rs(8B000-x)

Profit = 30%

Profit =30% of Rs (8000-x) =Rs 0.3 (8000-x) =Rs (2400 -0.3x)
Given, overall profit = Rs 650
(2400 - 0.3x) - 0.2x = 650

=0.5x = 2400 - 650 = 1750

- Xx=1750/) 0.5 = 3500

C.Pof 1** cycle = Rs 3500

C.P of 2" cycle = Rs 8000 - Rs 3500 = Rs4500

Answer 18.

C.P. of both the transistors = Rs 7200

Let C.P of the 1°* transistorbe Rs x
C.P of the 2" transistoris Rs (7200 - x)
For the 1 transistor,
Loss = 15%
SP = C.P-Loss
Rsx - 15% of Rs x = Rs 0.85x

For the 2™ transistor,

Profit = 19%

S.P = C.P+ Profit

Rs (7200 - x) + 19% of Rs (7200-x)
Rs (8568 -1.19x%)



Given, both the S.P's are equal

0.85x = 8568 -1.19x
—1.19x + 0.85x = B568

=2.04x = 8588
8568

=X = =
504 4200

C.P of 1°t transistor = Rs 4200
C.P of 2™ transistor = Rs 7200 — Rs 4200 = Rs3000

Answer 19.
Let the 5.P of both the cyclesbe Rs. x each.

Far the first cycle,
Profit = 20%

=] s Profit
CP. 100
e 1+£
CF 100
_x__100+20
CE 100
=CF = @x=é
1z207 6

. 5 E-5
Profit =S P-CP=x- —x = [—]X=

2
6 6 6

For the second cycle,
Loss = 20%



SR i Loss

CF 100
i=1_£
CP. 100
x _100-20
CP. 100

:~CP.=@><=§><

80 " 4

loss =C.P-S.P=

sl n
=
|
]
1
A
Ln
wnf |
I
o
*
I
(a1

Given, totalloss = Rs 180

X
= ——-—=180
4 &

=2
=X 180
= 24

= x=12X180= 2160

5 5
C.P. of first bicycle = =1 ¥ Rs.2160 =Rs. Rs.1800

g)(
_ 5 5
C.P. of second bicycle =aES g X Rs.2160 = Rs. Rs.2700

Answer 20.

SPofl2pens = Rs/Z
R s =Rs6

. S.Poflpen = Rsy5 =Rs
Gain % = 20%
SP._ Profit
CP. © 100

6 1,28

CP. ~ 100

6 100420

EZIF 100

=ER. = @}-{E: Rs.5
120

Given,5.P = Rs 100

Gain = 25%
Sk _, Profit
CP. 100
100_,,25
CP. ~ 100
100 100+25
CF, 100
=CP, = @x 100= R=.80
125

Rs.80
F.s5

=1&

~ Number of pens sold =



Answer 21.

Let the gquantity of milk purchased be x litres.

C.Pofllitre =Rs 14
C.Pof x litre = Rs 14x

40 2
Quantity of water mixed = 40% of x = m><=gx litres

2 o
Quantity of milk now becomes = X+ EX =§>< litres

S.Pof 1 litre mixture =Rs 16

7 112
—x|i i = 15, —% =Rg——
S.Pof leltres mixture SK S c x
Profit = SP-CP
112
-
= ¥ X
_ 112;»«:—?'D>c:=£><
5 5
Profit
Profit % = =P x 100
_ 25 100 - 60%

1



Answer 22.

Let A buy the cycle for Rs x.

ForA, C.Pofthecycle =Rsx+Rs 110
Profit = 20%

SR e Profit
CP. 100
sp__,, 20
x+ 110 100
SP. 100420
x+110 100

=Sk = @lrm 1101= RS.E|><+ 110
100 10

For B, C.P of the cycle = Rs.%l X+ 1101

Loss = 10%
E_ _Lr:es
CP~ 100
SP 10
= =1-
2 110, 100
10
SP 100-10
= =
%%|x+110| 100
SF = £E|x+ 110 = RS.E.E|X+ 1100
10010 1010

9 17
For C,C.Pofthecycle= Rs —.—(x+110]|
10 10

Profit = 10%

S.Pof the cycle =

Rz 1+£ E.E|>{+11DI=RSH.E.E|X+11DI
100,010 10 10 10 10

aTQ, 11 2 12, . 110)=1188
10 10 10

= x+110= 1000
= x =1000-110 =890
A paid Rs 890 for the cycle.



Answer 23.

Costof 40 articles = Rs 54400
54400
. Costofeach article = Rs a0 = Rs 1360
Costof finishing of one article = Rs 140
» C.Pof finished article = Rs1360+ Rs 140 =Rs 1500
. C.Pof 40 finished articles = Rs1500x40 =Rs 60000
i
S.P of one-fourth articles = X 40 x Rs 2100
) 3
S.P of rest of articles = X 40 x Rs 1800
i 3
~ Total S.P = ZX 40 x Bs 2100 + 2% 40 x Rs 1800
= Rs 21000+ Rs 54000 =Rs 75000
Profit = B ER
= Rs75000-Rs 60000 =Rs 15000
Frofit
ite = 100
Profit %4 =P %
= 15000}(100:25'%
0000
Answer 24.
Let the C.P of the briefcaseis Rs x
Profit = 15%
S.P = C.P + Profit

Rsx +15% of Rsx =Rs1.15x
In the later case, C.P Rsx - 5% of Rs x = Rs 0.95x
SP = Rs(1.15x- 35)
Gain = S.P-C.P
=Rs (1.15x- 35)-Rs 0.95x =Rs (0.2x - 35)

Gain% = 20%

— 98N 100-20
_F
_ [92X=35) 400- 20
0.05x
0.2x-35) _ 1 o9
0. 95x

= 02x-35=0.19x
= ROQIlx=35
= o = 3500
C.P of the briefcaseis Rs 3500



Answer 25.

Let the number of eggs boughtat 4 for Rs 5 be x.

~ The number of eggsboughtat9 forRs 10 are x
" Total number of eggsbought = x + x = 2x

)
When eggs are boughtat 4 forRs 5, C.P of each egg = RSE

C.Pof x eggs _ RsZx

10
When eggs are boughtat 9 forRs 10, C.P of each egg = RS?

C.Pof x eggs = Rggx
~ Total C.P = RSEX+ RSEX=RS§X
4 3 35
Number of eggs broken = 15% of 2x
i 15 x2x==§z
100 10
3% 17x
= 2)(__=_
Eggsleft T

3
When eggs are sold at 2 for Rs 3, 5.P of each egg = RS§

17 3 17 51
S.Pof ﬁx eggs = Rszxﬁx=RsEx
Gain = SP-CP

51, _85, _(459-425),
- 200 36 180
= i =RS£>{
180 a0
Gain% = %%;xlﬂﬂ
17,
_ 50~ _17 36 e
- §§Xx100—90x85x100—8ﬁ
36
Also, gain = Rs 510
= L. g
a0
- x = 2 ei6-2760
17

Number of eggs of each kind bought = 2700.



Answer 26.

Let the C.P of the shirt be Rs x

10
When sold at a profitof 10%, S.P = [1+ ﬁ}(: Rs. 1.1x

15
When sold at a profitof 15%, S.P = {1+ ﬁJX= Rs. 1.15x

Difference between thetwo S.P's =Rs (1.15x-1.10x)=Rs 0.05 x
ATQ, 0.05x% = 80

= =% 1600
X Toos T

~ C.Pof each shirt = Rs 1600
» S.Pof1shirt=Rs 1.1 X 1600 =Rs 1760
- S.Pof 2" shirt =Rs 1.15 X 1600 = Rs 1840

Answer 27.

SPof didentical kites=Rs, 12

100 + Pr ofit%
SP =
[ 100

100+ 20
100

= 1200 = (100 + 20) x CP

]xCP

:>12=[ ]xCF’

= CP =Rs 10

So, the CP of 1kite = Rs.le = Rs.g
Mowi, SP of 6kites =Rs, 24

So, 5P of 1kite =Rs, % =Rz 4

Profit = SP-CP=PRs 4- Rs.g = ng

3

Broft il - £x100- %x 100 = 60%
2
Hence, his gain percentis 60%,

Profit% =




Answer 28.

SF of 80bananas =Rs. 240

100 - Loss%:
=240 = (199251, ~p
100
= 240 = E x CF
100

P o 240 % 100

75
= CF = Rs 320
So, TP of 280 bananasisRs 320
. CPofibanana = RS.% =FRs 4

Let the number of bananas for scld for Re. 100 be .
=0, CP of x bananas =Rs. 4x

100 + Pr ofit%
100

100+ 25 « dx
100

Moy, SF’=[ JxCF’

:‘>100={

=100 =122, 44
160

::>1DD=§><4><

=100 = 5x
= x =20
Hence, he should sell 20bananas for Rs, 100 to gain 25%.

Answer 29.

For the first washing machine .
SP =Rs. 8900 and profit = 20%

L CR = 100 x 5P
100+ Profit%s

cop= (199 1, go00
100+ 20

A IEP = i x 2900
120
_ 85000

12
. CP = Rg 22220

. CF

Sincein the whole transaction, thereisnoprofit and noloss,
~ Loss on the second washing machine



= Profit on the first washing machine

= 20% of 22229

_3){2225@

5 3

=R5.ﬂ
3

For the second washing machine .
4450

Loss = 15% and Loss =Rs, 50, we have to find the CP

4t % % = Rs 9888, 87

CP of the second washing machine =Rs.,

Hence, CP of the second washing machineisRs 9888.87 approximately,

Answer 30.

CPof 60 kg of apples =Rs. (90x60) =Rs, 5400
Gainpercent on the whole
= 25% of Rs. 5400

= 2> ,Rs. 5400
100

=Rz, 1350
CPof 40kg of apples =Rs, (90x 40) =Rs, 3600
Loss = 10% of 3600

_ 10 rs3600
100

=Rz, 260
Quantity of applesleft tobe sold=60- 40 = 20kg
CPof 20kg apples =Rs.(90x 20 ) =Rz, 1200
Profit tobe made by selling 20 kg apples =Rs, 1350+ 260 =Rs, 1710
L SPof 20kg apples = CP +Profit =Rs, 1800+ Rs, 1710 = Rs 3510

3510

. SPof lkgapples =Rs. =Rz 175,50

Hence, he should sell the remaining apples atRs. 175.50per kg
to gain 25% on the whole,



Answer 31.

CF of the TV =Rs. 15000

Profit made on the T = 20% of CF = % « s, 15000 = Rs. 3000

S0, SP=CP+Profit =Rs. 15000 4+ Rs, 3000 = Rs, 18000
Since the SPincludes Rs, 1000 as tax
S0, the actual SP{incuding tax) = SP{without tax) - tax
= Rs 12000 -Rs, 1000
= Rs 17000
S0, the net profit =SP (including tax) - CP of the TV
= R 17000-Rs, 15000
= Rs 2000

Frofit

Profit % = x 100

_ 2000 100

15000

= 13lay
=

Hence, the net profitisRs, 2000 and the profit percentis 13%%.

Answer 32.

Let the commeon multiple be x.

S0, 3x litres of il Ais mixed with 2x litres of cil B.

Total mixture = 3x + 2x = Sx litres

CP of il & = Rs.300 per litre

S0, CF of 3xlitres =Rs, (300x 3x) =Rs, 900x

CP of cil B = Rz, 400 per litre

S0, CF of 2xlitres =Rs, (400x 2x) =Rs, 800x

o, total CP of the entire mixture thatis, Sxlitres =Rs, 1700x
Mows, one - fourth of the mixture is sold at Rs, 450 per litre

thatis, iof (5x)= ?lt x 5w = 5—:: litresis sold at Rs, 450 per litre

So,SP of 5—25 litres = 5% % 450 = R, 12X

The remaining thatis, % of (5x) = %x Sx = % litresis sold at
Rz 500 per litre

S0, SPof 15% litres = % x 500 = Rs, 1875x%

S0, SP of the entire mixture =Rs, 1123 +Rs 1875x = Rs 407 =

Profit = SP— CP = Rs. 2272 _R< 1700x = Rs, 237 =X
147 5%

Profitve = O 1oo- 2 c100= 143X 100 - 1973 100 - 43.38% approx
1700% 3400% 2400

Hence, the profit percent on the whaole is 43, 38% approxi mately,



Ex 2.3

Answer 1.

a WP =Rs, 850, Discount = 16%:

discount

Discount®s = [ ® iﬂDJ

16 [dlscount

® 1[:][]}

16 = 850
=" 77"

100
= discount = Rs 136

SP = MP - discount
=Rs 850-Rs 136
=Rs 714

Hence, the SFisRs, 7 14,

= discount

b. MP =Rs, 5500, Discount = 30%

[disr:ount

Discounth = X lDDJ

discount
5500
= 30 % 5500

100
= discount = Rs 1650

P = MP - discount
= Rz, 5500-Rs 1650
= Rs. 3850
Hence, the SPis Rs, 3850,

::>3D={ xlDD]

= discount



Answer 2.

a sk =FRs 1892, Discount = 14%
sp=(1-_9 Jormp
100

igoo =11 amp
100

= 15892 = L x MP
100

— MP = 1892 % 100
2

= MF = Rs 2200

b. SP =Rs. 1245, Discount = 17%

d

1245 [1- Y |xmp
100

= 1245- 22 P
100

_ wp _ 1245x100
83

= MF=Rs 1500

Answer 3.

a.MP =Rs, 1500, SP =Rs. 1320
Discount = MF - SP

= Discount = Rs, 1500-Rs, 1320
= Disoount = Rs. 180

Discount percentage = [M

3 iDDJ Y

=2 x 100 |%
1500

=12%

b.MP =Rs 6840, SP =Rs. 5814
Discount = MP - =P

= Discount = Rs, 6840-Rs. 5814
= Discount = Rs, 1026

&340
= 15%

Discount percentage = [@ X iDDJ%



Answer 4.

MP = Rs, 5400, discount = 12%
To find the amount paidby the customer, thatis, the SP

d
SF’—[i—ﬁJDFMF’
12

=sp =2 5400
100

= SP =Rs. 4752
Hence, the amount paid by the customer is Rs, 4752,

Answer 5.

MP = Rs. 150, discount = 8%

To find the amount paidby the customer, that is, the SP

d
SP—[i—ﬁ]OFMF’
=Sk = 1—i % Ji5U

100

—op=_2 150
100

=SP =Rz, 138
Hence, the amountpaid by the customeris Rs, 138,

Answer 6.

CP = Rs 2400, discount = 10%, profit®% = 12.5%
profit

profith = x 100

profit

= 125= x 100
24000

12.5% 2400

100
= profit = Rs, 300

SP =Rs 2400 + Rz, 300
=Rs, 2700

SPp = {1— ij of MP

= profit =

100
=700 =[1- 29 1 mp
100

= 2700 = 22, Mp
100

= 2700x 100 _
S0
= MF = Rs 3000

Hence, the price he should mark the artide atis Rs. 3000,

P



Answer 7.

CP =Rs 1750, discount = 20%, profit% = 20%
_ profit

profiths = x 100

— 20 = pmﬁ; % 100

. profit - 20x 1750
100

= profit = Rs, 350
SP=Rs 1750+Rs, 350
=Rz, 2100
d

= 2100 = 1—2 x WP
100

= 2100 =Exl‘ﬂp
100

3 2100x 100 _
80
= MP = Rz 2625

Hence, the pricehe should mark the artide atis Rs, 2625,

MF

Answer 8.

MP = Rs. 2000, discount = 15%
sp=[1-_9 |ormp
100

=5k = 1—£ x 2000
100

85
=5k = oo~ 2000

= SP =Rs. 6800

Let the cost price be Rs, x

Given that the MP = x + 25% above the CP
= 8000 = x+ 25% of CP

25
:’SDDD= X+mx><

= 8000 = %+ =
4

= 8000 = 2%
4

S000x 4
5
= x = Rs 6400

o, the CRis Rs, 6400,
Hence, the SP of the article isRs, 6800 and the CPis Rs. 6400,

= X =



Answer 9.

CP = Rs 4200, discount = 12, 5%, profit% = 20%

profit L 100

profit% =

profit

=20 = x 100
4200

20x 4200
100

= profit = Rs, 840

SP = Rs 4200 +Rs. 840
=Rz, 5040

d

= profit =

= 5040 = l—E x VP
100

= 5040 = 872 x WP
100

5040% 100 _
87.5
= MP = Rs. 5760

Hence, the price he should mark the artide atis Rs, 5760,

M

Answer 10.

MP =FRs 1200

N [
a.SF’—[i ﬁ][l ﬁ]oﬂﬂp

= SP =(1—£][1—£}: 1200

100 1000
85 90
85 90
=5SP =Rs. 918

Y O O PO [P
I::.SP—[l ﬁ][i ﬁ][i m]oﬂwp

=Sk = [1 — £][1 ~ i][l— i} x 1200
100 100 100

Q0 92 95

100 100 100
— GP = Rs, 944

=Sk = x 1200




Answer 11.

MP = Rs. 4000, SP = Rs, 3060
(1. % d
a.SP= {1 100]{1 mo] of MP

:,~3060=[1— mJ 1- % )y 4000
100/l 100

50 d
= 3060 = ——x | 1- 22| x 4000
mox{ mo}‘

:}3[]6[]:[1— e, JxﬂxdﬂDD

100) 100
_(100-d,
= S080 = [WJ % S600
S0a0x 100
2 100-dh = ——55—

= 100-d, = 85

=d, = 100- 85

=d, = 15%

Hence, the second discountis 15%.

Answer 12.

Let he MPbeRs. x
a. First discount

SP=[1— 4 ][1— d, ][1— % ]OFMP
100 100 100

“(1-22[1- 22 1= 22 )
oo/l 100)| " 100

75 80 85

= E ® ¥
100" 100 100

75 80 85

100" 100" 100" "
—0.510x%

b. Second discount

SP=[1— 4 ]{1— d, ][1— 4 ]DFMF’
100 100 100

= 1200 20N =0
oo/l 1oo)l 100

80 80 80
= X X ¥
100 100 100
=0.512x

Clearly, since 0.512x = 0.510x, s, the SF of the firstisless than
that of the second
So, the first offer is better than the second offer,



Answer 13.
Let theMPbe of the artide be Rs, x and a single discount be d%
be equivalent to three given successive discounts of 20%, 10% and 5%,
Equating the two selling prices of the artide we get,

[1— i] of Rz, x = [1— EJ[i— E][i—iJ of Rs, =
100 100 100 100

d 20 90 95
=|1l- " (xx= x X XX
100 100 100 100

d _80 90 95
100 100 100 100
d _ 684000

100 1000000
684000 _ d

1000000 100
316000  d

1000000 100
_ 316000x 100

1000000
=d=316%

P of the artide =FR.s, 2500
Sp = [1 - EJ % 2500
100

58,4
=5k = 100 x 2500

=1-

=1

=5SP=Rs 1710
Hence, the equivalent discountis Rs, 31.6% and the SPisRs, 1710,

Answer 14.

List price =Rs, 4000

Casel:

sp=(1- -9 | of MP(List price)
100

= 5P =|1-22x 4000
100

75
= sP=-"2y 4000
100

= 5P =FRs 2000
Case 2

_ d, d;
Sp = [1 EJ [1 m}of MP
15 12
_ 85 88

— x —— 4000
100 100

= SP =Rs. 2992
Sincein the second case the SPislesser, so the second offer is better,
The amount paidin the second offer isRs, 2992,

=5SP



Answer 15.

MP of the sofa = Rs, 36000, discount at Guwahati = 20%
sp=[1--L | ofmp
100

= 5F = 1—E x 36000
100

20
= 5SP = o5~ 36000

= 5P = Rs 28800

S0, the SP at Guwahati is Rs, 28200,

So, total expenses

=SP+ travelling expenses + ransportation of the artide
=Rz, 28800+ FRs. 1500+ Rs, 1200

=Rz, 31500

S0, the TP at Delhi =Rs. 31500

a. SP atDelhi = marked price = Rs, 36000
S0, Profit= 5P - CP = Rs 36000 -Rs, 31500 = Rs. 4500
Profit 4500 <

. - o
P x 100 = BISDDKIDD 14? Yo
5

b. discount = 5% of 36000 = 100 x 36000 =Hs, 1200

Profit% =

= 5P = 36000 - 1800 =FRs, 34200
So, Profit=5P-CP = Rz 34200 -Rs. 31500 = Rs 2700

F"ré::nﬁt « 100 2700 4

Profit?s = = x 100 =8_"%
31500 7




Answer 16.

Let the cost price of each article bought =Rs, 100,
Let the number of artid es bought =x
MP of the articles =Rs, 100 + 50% of Rs, 100

=Rs, 100+ Ex 100
100

=Rz 150

Number of articles sold atRs, 150 = g

- Sp ofg artides = Rs. [15@ x %J _ Rs, 75x%

Oiscount =20% onRs, 150
20

=ﬁx15[:|

=Rs 30
L SP=Rs 150-Rs,30 =Rz, 120

Remainingnumber of articles sold atRs. 120 =x -

M|
bu | =
]
Iu | x

- GP ofé1 articles =R, [120 p ;J — Rs 30x

Discount = 36% on Rs, 150
o6

= ——x 150
100

- Rs. 54
- SP=Rs. 150 -Rs.54 =Rs. 96

Mumber of articles scld atRs. =§
v %
S 5P DFZ articles =R.s, [96 % ZJ = Rs. 24

Total SP of all articles =Rs, 75% +Rs, 20x% + Bs 24x =129«
Profit=5P-CP=Rs 129x-Rs 100x =Rs. 29

So, profit % = POt 4 oo o 29X
100%

Hence, the gainpercent altogether is 29%.

x 100 = 29%




Answer 17.

Let the cost price of each artide bought =Rs, 100,
Let the number of articles bought = x
MP of the articles =Rs, 100+ 60% of Rz, 100
=Rs 100+ [E % lDDJ
100
= Rs 160

Mumber of articles sold atRs. 160 = g

- SPof g articles = R, [16[] y g] — R=. 80x

Ciscount =25% on Rs. 160
25

_ E2 16D
100

=Rz 40
L5P=Rs 160 -Rs 40 =Rs 120

Femaning number of artides sold at Rs. 120=x -

M|
B
1
Jul

L SPof 3 articles = Rs, [12@ % éJ - Rs 30x

Ciscount = 50%: on Rs. 160
50

= ——x 160
100

=Rz 80
5P =Rs 160 -Rs.80 =Rs. 80

Mumber of aricles sold atRs, =§
> S X
LSPof a articles =Rs. [SDx E] =Rz 20%

Total SP of all articles =Rs. 80x +Ps, Z0x + Rs. 20x% = 130
Profit=5SF-CP=PRs 130x -R=s 100x =R 30x%

So, profit % = POt 1o o 2%
100x

Hence, the gain percent altogether is 30%.,

x 100 = 30%




Answer 18.

Let the CP be Rs, 100,
Given that the profit® =21% on the CP

profit

Profitt = = 100

profit

= 21% = 0 = 100

= profit = Rs 21
SP = CP + Profit
=100+ 21
=PRs 121

Let the marked price of the goods be Rs, =,

Discount = 12% of WP = Ex ¥ = Rs.%
100 100

=0, SP=MP- Discount
12
=121=Rs|x-—
S[X 100}

121x 100

28
= x=FHs 137.5%

= x = Rz

If the goods were sold at the MP, that 5P =MFP
So,MP-CP = 137.7 - 100 = 37.5 = profit

; 375
Profit? = 100 = 37 . 5%
FoTI T o 100 b4 [x]

Hence, the profit percent wouldbe 37, 5%,

Answer 19.

Let the CP beRs, 100,
Given that the profit% =236% on the CP

Profites < PTOfT

x 100

profit

= 36% = 5 x 100

= profit = Rs. 36
SP = CP+Profit
=100+ 36
=Rs 136

Let the marked price of the goods be Rs, x.

Discount = 1 5% of MP = Ex ¥ = Rs.E
100 100

S0, SF =MP-Discount
15x

= 136=Rs|x- —
® [X 100]

136 =100
85
= x=Rs 160%

= x = Rs



If the goods were sold at the MP, that SF =MP
so,MP- CP = 160- 100 = 60 = profit

| 60 .
Profitho = Tk 100 = 60%

Hence, the profit percent wouldbe 60%,

Answer 20.

Let the CP be Re, 100,
So, MP = CP + 45% of CP = 100 + [% % 100} _Rs 145
Discount = 20% on P

20

=—x 145
100

=Rs. 29
S0, SP of the goods = MP - Discount
=Rs 145 -Rs.29
=Fs 116
Profit=3P-CF=Rs116-Rs100=R=s.16
Whenthe SPisRs, 116, theprofitisRs, 16
=0, when the gainis Rs, 960,

the SP = % = Rs 6960
CP =SP - Profit

=Rs, 6960 -Rs, 960

=Rs. 6000

Hence, the cost price of and artide onwhidihe
gJains s, 9c0is Rs, o000,



Answer 21.

Let the CP beRs. 100,

So, MP = CP + 25% of CP = 100 + (% y 100} _Rs 125
Discount = 10% on WP
10

=—x125
100

=Rs. 12.5
So, 5P of the goods = MP - Discount
=Rs 125-Rs.12.5
=Rs. 112.5
Profit=SP-CF=Rs1125-Rs 100 =Rs.12.5
Whenthe SPisRs, 112.5, theprofitisRs, 12,5
So, when the gainis Rs, 960,
112.5x 575

the SP=2""2""""" - Rs 5175
12,5

CP =SP-Profit

=Rs.5175-Rs. 575

=Rz, 4&00
Hence, the cost price of and artide on which he
gains Bs, 575is Rs, 4600,



Answer 22.

Let the printedprice of the books be Rs., =
Discount given by the publisher = 30% of Rz, %

= E vRs, x
100
S0
=Rs.
100
So, the distributor bought the books atRs, x - Rs.@ = Rs. #08
100 100
Discount given by the distributor =Rs, 23% of Rs, x
= Rs. 23 of R, x
100
&3
~Rg =0
100
23x% 77
So, the bookseller purchased the books atRs, x - Rs 150 = =FRs, 100
Profit made by the distributor = SP-CP =Rs. i ig -Rs= 7Ox = Rs il
100 100 100
Profite = PO, 100
7
_ 100
= 70x 100
100
= 10%

SF at which theboolkseller sold the books =Rs, »
So, profit =SP- CP

i
=F Re 77
S.%— SIDD

e, 53
100

Profite = POt 100

23
_ 100
= S5 w 100
100
ggg B
77
Hence, the profit% made by the distributor is 10% and that made by

the bookseller is 29%%.



Answer 23.

Given that the catalogue price of the laptop =Rs, 43200

SP after the discount = Rs, 43200 - Rs. % % 43200

= Rs, 43200-Rs 6912
= Rs. 362388
CP = SP-Profit = Rs 36282 - Profit

_ profit

So, Profit%h = x 100

profit y
36288 - Profit
= 2636288 - Profit) = profit x 100
= 943488 - 26 profit = 100profit
= 043488 = 126 profit
943488

126
= profit = Rs. 7488
S0, CF =Rs, 36288 - Rs. 7488 = Rs, 28800

=26 = 100

= profit =

If SP=Rs. 43200-Rs. 9000 = Rs, 34200
Since, 5P » CP,s0 againwas made = Rs, 34200 - Rs, 28200 =Rs, 5400

5400

profit®s = x 100 =187 5%
28800

Hence, the gainpercent wouldbe 18.75%.

Answer 24.

Gurmeet gives a discount of 8% on the first Rs, 20000
So, SPonRs, 20000

— Rs. 20000 - —°—(Rs. 20000)
100

=Rs, 20000 -Rs 1600

= Rs 18400

2o, 5P on Rs, 20000

Gurmeet gives adiscount of 5% on the first Rs, 5000
5

=Rs, 5000 - 00 (Rs. 5000)

=Rz, 5000 -FRs, 250

= Rs 4750

So, actual price at which Gurmeet sells the article
= Rs 184004 Rs 4750

= Rz 23150



Marjeet gives a discount of 6% on the first Rs, 25000
S0, SPonRs, 25000

&
= Rs. 25000 - -2 (Rs. 25000
. Tl )

=Rz, 25000 -Fs 1500
= Fs, 23500

S0, actual price at which Manjeet sells the article is Rs. 23150,
and that at which Gurmeet sells the articleis Rs, 23150,

Answer 25.

List price of the artide =Rs, 2500
CP of the artide =Rs. 2000

SP of the article at 5% discount
=Rz, 2500- 5% of Rs, 2500

= Rs. 2500- —= x Rs. 2500
100
—Rs. 2375

Since trader gets a 5% additional discount for cash payvment,
so, amount paidby the trader =Rs, 2375- 5% of Rs, 2375

= Rs. 2375~ ix Rs, 2375
100

=Rs.237/5-Rs 118.75
= Rs. 2256.25

Profit made by the manufacturer

= Listprice- 5P

=Rs, 2500-Rs, 2256.25

= Rs.243.75

o, profitdh = profit

_ 24375
2000
=12.18%

Hence, the amount that the trader paysis Rs, 2256.25 and the
profit % that the maufacturer makes on the saleis 12, 18%.

x 100

x 100



Answer 26.

Let the marked price be Rs, x
CP of the computer set =Rs, 20000
profit

Profitts = = x 100
- profit L 100
D000

= profit = Rs, 5000
S0, SP = CP +Profit
= R 20000+ Rz, 5000
= Rz 25000
Given that a discount of 5% is given on the MP,
20, 5P = Rz, x - 5% of the MP

= Rs 25000 = x - ix %
100

Q5
— Rs. 25000 = 2%
s 100

=¥ =Rs 263215.79 approx
Hence, the price that shouldbe markedis appraoximately Rs, 26315.79,

Answer 27.

Total cost of production = Rs 5200
Theratio of material: labour: overheads =5:6:2
~ Total of the ratio = 54+6+2=13
¢ 5 ™y
L Costof material = FRs| =x5200|=Rs2000
W13 ,»
' 6 ™y
{:ggtgf|abgr = PRsz| Z_=5200|=Rs2400
Sl ,f
¢ 2 ™y
~ Costof overhieads = PRs ﬁ}CSEDD =R.s200
s, A

Costprice of the video game = Rs 5200

Profit = 30%
- Profit = 30% of Rs 5200 = Rs1560
~ 5.P = Rs 5200 + Rs1560 = Rs6760
So, marked price is Rs6760
Costof material = Rs2000
Increase = 40%
- Increase = 40% of Rs 2000 = Rs800
. New cost of material = Rs2000 +Rs800 = Rs2800

Cost of labour = Rs2400



Increase = 30%

- Increase = 30% of Rs2400 = Rs720
. New cost of labour = Rs 2400 + Rs720
= Rs3120
Cost of overheads = Rs800
Increase = 10%
. Increase = 10% of Rs800 = Rs80

Rs800 + Rs80 = Rs880
Rs. (2800 + 3120 + 880)

Rs6800
Profit = 30%

. New cost of overheads

. Costof manufacturing now

SP. _ 14 Frofit
CP. 100
SP. _ 1s 30
200 100
s SP. _100+30
6300 100

=5P = @K680D= R8540
100

The cost of manufacturing the video game now is Rs6800,

And the marked price now is Rs8840.
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